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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

—&— PHO

Warning: col

[’ FVOPH’ ]

is missing

36

38

40 42 44 46 48




Trend plot forP3-4 0
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P3-4
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Warning: col "MW ] missing
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P3-4

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS R

07:10 273 150.0 (Z=| 1BRige07:10 Bzh (KEERESE)
07:55 273 150.0 & =| 1Ri%@07:55 Bzh (KRABHEESE)
09:00 273 150.0 FA| 1B2i&@09:00 B3 (KFAFEREE)
10:00 273 150.0 = RRiB0@10:00 Bzh (RAEEE)
10:45 273 150. 0 5| 1Ri%e10:45 B GREMEREE)
11:45 273 150.0 =l {Rige11:45 B3 (RAERSE)
12:35 273 150.0 E BRige12:35 Bz (GRAERESE)
13:20 273 150. 0 E| {Rig013:20 B3h (RE{ERSE)
14:05 273 150.0 E| {Rige14:05 Bzh (RE{EREE)
14:50 273 150.0 =l RRiB014:50 Bz (REAKEE)
15:40 273 150. 0 5| 1Ri%e15:40 B GREEREE)
16:35 273 150.0 F BRige16:35 Bz (GRAERESE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

MEREHERE STHEARS (179.0 : 145.0), AIREETF—®E XAH5
BRI\ SEPRGERL145. 0 ml.

REXEEBIEC (2715.0) 5i&FEEC (2000.0) REK K, BFEE
HEEIRECE (2715.0 vs 4912.0) 05



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=47 (2025-05-15)

150 Fm————fm e ———— T
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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0.0 1
300 1 Bylnit @D4Q 02:45: ET=1449 Fg=1886.0 Ro=421.0 t
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700 800
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Warning: col ['M_E'] missing
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16 -
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Warning: col ["M_E’] missing Warning: col ['M_E'] missing
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Warning: col ['M_E’] missing
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Warning: col "MW 1] missing Warning: col "MW ] missing
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Warning: col "M W ] missing
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P3-4

BfiE) | BRI (FD) | EE (EH/AR) | XK R

12:35 273 150.0 PA| {Ri%e12:35 Bz CGRAKESE)
13:05 273 150.0 | =| 1Ri%e13:05 Bz (RAHEREE)
13:35 273 150.0 & =| 1Ri%@13:35 Bzh (KRAHERESE)
14:05 273 150.0 (& =| 1BRig@14:05 Bzh (REERESE)
14:35 273 150.0 | =| 1Ri%e14:35 Bz (RBERE)
15:10 273 150.0 (& =| 1BRige15:10 Bzh (REFRESE)
15:45 273 150.0 | =| 1Ri%e15:45 Bz (kAEREEE)
23t[1911.0 (TR 1050. 0 3EHKEC: 2080.0, PH: 6.0

FEREHER 2 STEELRF (176.0

ERIASSPRIERL142.0 ml.

#[EKECE (2700.0 vs 4515.0) 5

142.0), AIEERT—@E XAH5

FEREREC (2700.0) 5i&EEC (2000.0) RERK, BT




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=46 (2025-05-14)
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Warning: lcol ["WC1',  "WC2'] missing
0.0
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Warning: lcol ['ECB’,| 'ECC’'] missing
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0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-4

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK EE

05:50 273 150.0 [Z=| 1BRi8@05:50 Bzh (KEERESE)
07:00 273 150. 0 E[  BRi%e07:00 Ba1 (RAERSE)
07:45 273 150.0 F BRi%e07:45 Bz (GREERE)
08:55 273 150.0 & 1RiRe08:55 B (KREERE)
10:05 273 150. 0 E BRi%e10:05 Bzl (GRAERERE)
10:50 273 150.0 S {Ri%@10:50 B3 (GRAERSE)
11:35 273 150. 0 E BRi&e11:35 Bz CGRAEESE)
12:20 273 150. 0 E BRige12:20 Bz (GRAERESE)
13:00 273 150.0 5| {Ri%e13:00 B3 (RAERSE)
13:35 273 150.0 = {RRiB013:35 B (RFAKESE)
14:15 273 150. 0 E BRige14:15 Bz CGRAEESE)
14:55 273 150. 0 El 1BRi&e14:55 Bz GRAEREE)
15:40 273 150.0 & =| 1Ri%e15:40 Bz (kAEREE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

HEARHEME STEAERTS (176.0 : 142.0), AIgEMF—RE XAH45
BRI\ SEPRERL142. 0 ml.

BEREBIEC (2635.0) 5i¥TEEC (2000.0) HEILKA, BFHE
#ERECE (2635.0 vs 4118.0) s



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=45 (2025-05-13)

R S it e talal
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2112
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- 1000
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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